UNIVERSITY OF MISSOURI - Columbia **Tuition Rates** Beginning with the 2010 Summer Session April 5, 2010

TUITION				2009-2010 RATES		2010-2011 RATES				
Student Level or	Residence	Term	Plateau	Per Credit	Flat	Per Credit	Flat	Percentage	Dollar	
Professional Program	Status	Type		Hour Rate	Rate	Hour Rate	Rate	Change	Change	
Undergraduate *	Missouri	Semester	None	\$245.60		\$245.60		0.0%	\$0.00	
	Nonresident	Semester	None	\$615.30		\$646.10		5.0%	\$30.80	
Graduate	Missouri	Semester	None	\$298.70		\$306.80		2.7%	\$8.10	
	Nonresident	Semester	None	\$771.20		\$792.00		2.7%	\$20.80	
Law, UMC	Missouri	Semester	None	\$480.10		\$504.10		5.0%	\$24.00	
		Semester	None	\$947.90		\$995.30		5.0%	\$47.40	
Law, UMC	Missouri	Semester	None	\$480.10		\$571.60		19.1%	\$91.50	
LLM	Nonresident	Semester	None	\$947.90		\$1,131.20		19.3%	\$183.30	
Medicine, UMC	Missouri	Semester	18	\$659.00	\$11,862.00	\$659.00	\$11,862.00	0.0%	\$0.00	
MD	Missouri	Summer	8	\$659.00	\$5,272.00	\$659.00	\$5,272.00	0.0%	\$0.00	
	Nonresident	Semester	18	\$1,312.10	\$23,617.80	\$1,312.10	\$23,617.80	0.0%	\$0.00	
	Nonresident	Summer	8	\$1,312.10	\$10,496.80	\$1,312.10	\$10,496.80	0.0%	\$0.00	
Veterinary Medicine,	Missouri	Semester	16	\$520.70	\$8,331.20	\$520.70	\$8,331.20	0.0%	\$0.00	
UMC, DVM	Nonresident	Semester	16	\$1,011.80	\$16,188.80	\$1,324.30	\$21,188.80	30.9%	\$5,000.00	

	2009-2010 RATES			2010-201		
	Per Credit	Flat	Per Credit	Flat	Percentage	Dollar
OTHER RELATED ENROLLMENT FEES	Hour Rate	Rate	Hour Rate	Rate	Change	Change
Information Technology Fee *	\$12.20		\$12.20		0.0%	\$0.00
Ag, Food and Natural Resources Course Fee	\$40.30		\$41.40		2.7%	\$1.10
Allied Health Course Fee	\$53.30		\$54.70		2.6%	\$1.40
Business School Undergraduate Course Fee	\$34.60		\$35.50		2.6%	\$0.90
Trulaske Business School Graduate Course Fee	\$34.60		\$75.00		116.8%	\$40.40
College of Education Undergraduate Certification Course Fee	\$34.60		\$35.50		2.6%	\$0.90
Engineering Course Fee	\$54.50		\$60.00		10.1%	\$5.50
Journalism Course Fee	\$40.30		\$41.40			

OPEN - FIN - 2f April 15-16, 2010

^{*} Falls under SB389

** The new Medical School fee would be assessed per credit hour the first two years and per semester the last two years, but the amount would be

TUITION				2009-201	I0 RATES				
Student Level or	Residence	Term	Plateau	Per Credit	Flat	Per Credit	Flat		Dollar
Professional Program		Туре		Hour Rate	Rate	Hour Rate	Rate		Change
Undergraduate *	Missouri	Semester	None	\$245.60		\$245.60		0.0%	\$0.00
	Nonresident Metropolitan **	Semester Semester	None	\$615.30		\$631.90		2.7%	\$16.60 \$0.00
Graduate		Semester	None	\$245.60 \$298.70		\$245.60 \$306.80		0.0%	\$8.10\$298.70
Graduate	Missouri	Semester	None	\$290.70		\$306.60		2.7%	\$6.10\$296.70

